NP \P
T2 AH| (MBI AIRIA)
ol 2| (ASE A S5 H) (=ECR-E))
SA - B . O (3H) - NBAIY - BAS 0 bt o HIDZ2t
ASt=E AP A 1,445,388 1,379,703 65,685
HY2AAH|(Aot=S A L) 349,89% 333,482 16,414
oI 2H| (AT AIRISHS) 349,8% 329,882 20,014
EEET 349,896 329,882 20,014
101 ©1248] 346,176 306,162 20,014
02 JIErEE% 102,658 98,541 4,117
OHBE (M45) 64,296
0.012=2 2,679,000&x201x12& 64,296
O A& 23,612
0.22x% 64,274,0002*1.8/12 9,642
JiEag 720
e 40,0002 101 122 480
0JIEDIS 20,0002 101 128 240
0. 824 Itz 1,920
020 Ol&t 100,000 *101x 123 1,200
010=0l&F 154 0|8t 60,0002 121 12& 720
0. A2l 2R
7, 9312120155 A| 245 122570% 7,329
0.0RI22Y 2, 7403 *1Q1x4 A 2H365 4,001
@F=L=INJS] 130, 00021520 1% 128 3,120
OunE2ZH| 120,000 %201x 123 2,880
OEESFIHI 64,274,00024+1.2/12& 6,428
@lEpEIN]
64,274,000 %132+ 1/24x1/12+80% 2,322
03 RIHL2Z2 X E S 243,518 227,621 15,897
Oal=C22|A(OIEZ) 59! 207,922
00122 1,342,00021%501% 128 80,520
0.01Z=4 1,622,000 521+ 100%*43] 32,440
0.AI2t2I28=E 10,0003 *521x30A] 2+ 128 18,000
0.825Y+g
54,000 *150%*521x 10+ 12& 48,600
0.9 X7/ 54,0003 *521+13 3,510
0.2l 120,000 %501x 123 7,200
0.918 4 30,0002+501 122 1,800
0. WEH| 130,00021%50 1% 128 7,800
0.2E30HI 1,342,000 52 1%60%*23] 8,062
O A=) 19l %,5%6
0.01=2 1,335,0002 %101+ 122) 16,020
0.012==% 1,615,000 *121%100%*4 2] 6,460
0.AlZtel2R4s 9, 9002 +30AI 24 122 3,564
0.928Y4+g
54,0002+ 150%+ 101542 * 124 3,888
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SN ABEEAIRIA
M WHSAAY| (AT AIRIA)
SH9l: QIS Y| (A TAIRISEEIH) (Sr9): 1)
- _ _ PSlEL=
A -3 - SRA(ZH) - MRAY - BES Oll &+t Ol] AkoH HwE2
09Xt RER~g 54,0002*121%132 702
0.2l 20,0002 +191+128 1,440
0.9184e 30,00021%121+ 122 360
0. DSt 130, 00021+ 101+ 128) 1,560
0. BRI 1,335, 00024+ 121 +60%+23] 1,602
204 M2 A 3,720 3,720 0
EEEES] 2,520 2,520 0
OELEEREEEST 105,00024+201+128 2,520
03 ST H| 1,200 1,200 0
OHAAZ CjRIZ S| 50,00020x201 122 1,200
IENINENETY 1,005,492 1,046,221 49,271
NATH FAFAL Bol U 2 (METAASEE) 1,005,492 1,046,221 49,271
NATH HABAL SRz 1,005,492 1,046,221 49,271
101 e121b| 61,203 59,123 2,080
04 IRII2E NS 2+ 61,203 59,123 2,080
OB4E U NYT2H &E K
102,33421%321+251+97H 5,527
OLEEAE 2E0TX| AERIH
84, 1662145014321 +43] 5,050
OAIDIN B2 S4SAEE
81,44381%101%102#23] 1,629
ONBEE HEIIZE 48,997
0. ZE QIRY 70025, 7008122 47,880
0. MTBER (AR 2LD)
2,820,00024+0.0330+ 128 1,117
201 Yer2 Y| 429,698 400,769 28,929
01 AF= 22l 9,973 §7.074 3,89
OgsragH| 88,393
0.44% MAEX(DXA 2 35)
15024+6, 0000H*425 3,600
0.44TAEIIC 2 35 15021, 500065 1,125
AREDIN BRS TRIEIADE
350,00024+63] 2,100
0. 4FLANEER 41,678
0F% 28,189
SHATH (BB
319, 2202 x40 A+128 15,323
SHAHA(FABAN
21,6024l A3 122 4,152
S SAEH(FAAA
52,22021%7 ) 24 122 4,387
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S ABEEAIZA
B gag AL 22
Chel: ARG HAMAM B2l Y 2E(METARSHIN) (=CEE!
S - - BRIEH) - MRAR - BaS of vt o HI DS
—B A (F B
21,6203 x8IH A+ 13|+ 123 2,076
-SUEESEH(ZIIZAH
62,5202+ Ax13]% 43 2,251
oR% 13,489
34T U HAHAS(FABAN
30,700 «8IHA+8E 1,965
HAT U ELHAL(2II2IAN
360, 1002 *8IH A4 & 11,524
0.92H DIBAMEER
700,000 #2501 A% 13 17,500
0.=EXNSHEI BTZA =2 (ETHE)
600,000& *35*4 4 X E*12] 7,200
FUHS SEBAEH nEs2(EEAH 2
) 400,000 #4002 +35+13] 4,800
0.20PHAD| E2= M
200&*5,00001*23] 2,000
0.2 Hof AEIH M 50027, 0000H 3,500
0.4+FSERLIN HH
1,200& %3, 500512 4,200
0.&6l=82/l 690,000& 690
o= 90
0. 44EILT HYH(FAULLERRIR)
100, 00024 %921 1 2} 900
O3 ZLTIYL Z4)
7,000 & *60 L x40 2 1,680
02 S52gH| 338,725 313,695 25,030
O332= € MA 297,865
0.2123 198,780
oF=E 118,800
RS 3,100,000 122 37,200
=E 1,100,000& 12 13,200
-t 4,600,000& 123 55,200
-AIA 1,100,000 12 13,200
od=& 32,640
AT 600,000&*12& 7,200
= E 120,000 122 1,440
-ttt 1,000,000 12 12,000
A& 1,000,000 128 12,000
oty 40,800
NS 400,000 x12& 4,800
-Xlel 300,000&*12& 3,600
-S0 700,000&*12& 8,400
=& 1,200,000 12 14,400
-AS 400,000&*12& 4,800
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2A MBI AIEA
A AL AL B
SRl MRCH FHLIAIL 22| L SSE(METAUSEEH) (2
= X ol(s = Ik @E‘E =
SA - M G2(SH) - HRAY - BES Of] AboH Glj ~Fon Hws2
-2A 200,000 122 2,400
-AIH 200,000 128 2,400
0.SUKRT AAE 20,0005 Ax 122 6,000
0. 2AAE B4 1,800 %2501 A+ 128 540
0.JI|HEAAISA2 10,045
oSt AT 285,52024x2J4 Ax 122 6,853
oA AT 158, 76024+ 14 Ax 122 1,906
OANFASEE 93,780R* 1 I Ax 128 1,126
oMEALT 80,0002 %17 A*23] 160
0.JKAE L =X 2o13HI£42
200,000 974 Ax 122 21,600
0.34Z 20I1AH|I442
200,000 *3H A* 122 7,200
0.288522 (A2
20,0002 *4JH A * 122 960
0. 4% DXA UE QBRI
300R%6, 500 122 23,400
0.83LB(HF 401L)
100, 0004*53] (1% 122 6,000
0. ME3H2 29,880
0.8, 547 L I
150, 00024 %93| &1+ 122 16,200
0. RAAAE A 140,000 122 1,680
0.ESAIAHSE
40,0002 %257 A * 122 12,000
ozt 8,960
0.2t SB(Z2IAL
1,40020%400 £ 42 =4I 2 8,960
OAAEZH| S| 31,900
SREH SEKX 450,00024+ 107K 4,500
0.HD =R RS20 20,0002*20S+ 128 4,800
0.AlZZ2 ZAIPHIZH 28K
100, 00046 Ax 122 7,200
0.23=278H| |
25,000 x4 S 40l 2% 128 4,800
0. 4ZBAFHIRX 20,0002 55 +4 ) A*43)] 1,600
0.4EXE =S MEY FEY
150, 00024 #5CH*40H 2 3,000
0.94 ST 1ol 1,000,000 *3CH 3,000
0.PAC EQTIT e 1,000, 00024 *3CH 3,000
206 H2H| 59,540 59,540 0
01 TH2H] 59,540 59,540 0
OASH(XIOIEALES) 2L
3002 *6,000kg* 122 21,600
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S ABEEAIZA
B ALT AL B2
9l AATH FAFAIM B2l ¥ SY(ALTASHE) (Sr9): 1)
SA - FH - S2(33) - MRAY - BAS Ofl At e F{ImE=ST
OSaM(Bel=0alSa 2 g =20ls) 2
500&*5,000kg*5& 12,500
OJrgAaltt 7 22,0002 *4JH 2+30 2,640
Oalga I+ 2,000
0. Aot 100, 0002 4T A#3Z 1,200
0. 2K 10, 0002*4 74 Ax20% 800
OFBNS SFID| LEPY(PHSZHAS 3
) 1,300,000 4B +4 1 A+ 13| 20,800
207 AN 65,000 80,000 215,000
01 AFEAH] 65,000 80,000 A15,000
ONSALE SAEA BA(LE, ZH,MX)
20,000, 00024304 60,000
OM+TAIS TIMHED} 2 5,000, 0002 5,000
301 LE2E NS 1,000 1,000 0
11 JIEt2a3 1,000 1,000 0
Otk =41 24 20,0002 #5024 1,000
401 AlEHIZ 048I 477,051 432,089 44,962
01 AlEHI 473,640 429,000 44,640
O= . =2t =2l 171,000
0.44%, 3H, 2% 900, 0002156021 54,000
0.&t4 Aok 8IS 900,000&*70AH 63,000
(NES! 900,000 & *40AH 36,000
0.4= 900, 000&*2024 18,000
O2xd B4 2I80HA) 500,000&*110A 55,000
O DA L Ala 29,400
0. M2l R 80, 00021%3007H 24,000
0. A&l 7 54,0002+ 1004 5,400
OOGIZtAF WX 10,000,000& *4 4 2-12] 40,000
OF A4 ®X2cl 16,200
0. F==& S0l SAt 800,000& *43] 3,200
0. FHEBUI(HSI| MUE) 24
650, 000& x4 2+53 13,000
Ot NE=ZE B 67,000
0. =& ANEES 10,000, 0002 *4J4 A 40,000
0. B4F HASK U FHFY)
6,000, 0002427 12,000
0. ADHK M8 &% 2 D
1,500,000&*10JH 2 15,000
O&Ald JZHO AIAE X 5,040
0. SAAY 2Ol A2Z DA
630,000&*8IH £ 5,040
O ==& WHSBA 90,000
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SN MBS AR A
HH: AT AL P
Chel: ARG HAMAM B2l Y 2E(METARSHIN) (Sr9): 1)
S - - BRIEH) - MRAR - BaS of vt o HI DS
0. &HES 102 L=510m 40,000,000& 40,000
0. Eh&®H 1JH2A L=370m 30,000,000 30,000
0. AIQHHA 1JHA L=130m 20,000,000& 20,000
03 Al 20 3,411 3,089 322
Oz. s =& & a5 Ald= 3H|
473,640,000&+0.72/100 3,411
405 KH&HFSHI 2,000 13,700 A11,700
01 NRHH =ZF SH| 2,000 13,700 A11,700
OPH =371 7Y 2,000,000 *1CH 2,000
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